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The consideration about the initial state with relationship of the minimum speed at a

given point and the furthest hitting point of free falls

Tomohiro KUDO∗, Yoji HIGASHIDA∗∗

In this paper, leading an angle of projection and initial speed, with holds the minimum speed at a given

point of orbit in free falls, is shown. It would be usually shown in algebraically by explaining a horizontal

displacement. We show that, it can be calculated by the relation of an angle of projection with the furthest

hitting point. It may be useful for understanding of free falls in elementary physics.
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